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NEO PLUS Saver Account Interest Rates

Interestrate Salary Customer Non-Salary Customer

Interest rate

(per annum) 6.25% 5%

Transferring salary of AED 10,000 | Maintaining balance of AED 50,000 or

Eligibility criteria or more to Mashreq more in the NEO PLUS Saver Account

* Up to 2 withdrawals can be made each month from the NEO PLUS Saver Account. Interestis not paidin a
month where 3 or more withdrawals are made from the account.

e Aboveinterest rates are available on balances up to AED 500,000. Balances above AED 500,000 will not
earninterest.

e Where salaryis not transferred to Mashregbank psc (‘Mashreq” or “the Bank”) for 2 consecutive months,
then you will not be eligible to receive 6.25% interest on the NEO PLUS Saver Account balance. However,
you will be eligible to receive 5% interest subject to maintaining a balance of AED 50,000 or more in the
NEO PLUS Saver Account.

e The terms and conditions of customer’s Mashreq Account available at Mashreq.com/tnc are applicable to
NEO PLUS Saver Account interest rates.

lllustration of interest calculation

P You are transferring a monthly salary of AED 12,000 to Mashreq

_g_ Average monthly balance in the NEO PLUS Saver Account = AED 20,000
I_% Monthlyinterest =20,000 x 6.25% x (30/360)=AED 104.17

M You are transferring a monthly salary of AED 25,000 to Mashreq

%_ Average monthly balance in the NEO PLUS Saver Account = AED 70,000
€

L%’ Monthlyinterest =70,000 x 6.25% x (30/360) = AED 364.58

You are not transferring salary to Mashreq
Average monthly balance in the NEO PLUS Saver Account = AED 40,000

Example 3

Monthlyinterest=0
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You are transferring a salary of AED 9,000 to Mashreq
Average monthly balance in the NEO PLUS Saver Account = AED 20,000

Monthly interest =0

You are not transferring salary to Mashreq
Average monthly balance in the NEO PLUS Saver Account = AED 50,000

Monthlyinterest =50,000 x 5% x (30/360) = AED 208.33

You are transferring a salary of AED 9,000 to Mashreq
Average monthly balance in the NEO PLUS Saver Account = AED 50,000

Monthlyinterest =50,000 x 5% x (30/360) = AED 208.33

You are transferring a salary of AED 60,000 to Mashreq
Average monthly balance in the NEO PLUS Saver Account = AED 550,000

Monthly interest =500,000 x 6.25% x (30/360) = AED 2604.17

You are not transferring salary to Mashreq
Average monthly balance in the NEO PLUS Saver Account = AED 550,000

Monthlyinterest =500,000 x 5% x (30/360) = AED 2083.33

You are maintaining a monthly average balance of AED 50,000.
However, you made 3 withdrawals from the NEO PLUS Saver Account.

Monthly interest =0

You are not transferring salary to Mashreq.
You maintained AED 50,000 in your NEO PLUS Saver Account for first 20 days in the month and
AED 40,000 for the remaining 10 days in the month.

Monthly average balance =(50,000%x20+40,000%10)/30=AED 46,666.67
Monthlyinterest=0

You have a NEO PLUS Saver Account with AED 50,000 balance and not transferring salary to
MashregNEO as of 1 April. On 20 April, you receive a salary of AED 15,000 in your Mashreq NEO
Account. You then transferred AED 5,000 from your salary to your NEO PLUS Saver Account on
the same day, bringing the balance to AED 55,000 and maintainedit till the end of the month.

Interest will be paidin 2 tranches for the month of April.

Tranche1 Interest=50,000x5% x20/360=AED 138.89 credited on 21 April.
Tranche 2 Interest=55,000 x 6.25% x10/360 = AED 95.49 credited after 30 April.

Example 11 Example 10 Example @ Example 8 Example 7 Example 6 Example 5 Example 4
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